5-6 Years English (Year |)

1 jumped@ I dim@mg a tree.

poSS\BLE
VARIOUS ANSWERS

To challenge your child further, you could
ask them to write a few sentences about
what they did yesterday, then rewrite them
as though they are doing those things now.

5-6 Years Maths (Year |)

ou can use first, second, third, fourth and fifth to say *
order things come in. ¢

~ play ‘shop’ with them at home using
~ real money to help them understand




6-7

Years Maths (Year 2)

3m
The car is half the length of the lorry.
The lorry is twice the length of the car.

6m

or more practice, find objects around
he house that your child can measure.

e sure that they use the correct units.

each measurement.

150 ml

U3
Which jug contains half as much water as jug 1?

Jug 1 Jug 2

Which tree is twice as tall as tree 1?

Tree 1 Tree 2
8m

L o

B s s my dog. JE T St
B Is this your dog? I "o e

Do you like cheese ?
He climbed the fence

Can you ride a bike?

She swam in the sea.

The stars are bright tonight.
Did you win the race?

Years English (Year 2)
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n start G .and can end with a full stoy
.l g Fetch th sick 7 7
L Kowhiarithat dod i 1 Thzg always end with

DN g g jumps: an exclamation mark
il

How happy I am! => E

1 love playing
the piano.

What's for dinner?

Pass me the
instructions.

What an interesting

1 used to live
in France.

What an awful
day we've had!




7-8 Years English (Year 3) ” |

7-8 Years Maths (Year 3)




8-9 Years English (Year &)

e S WY BIVE KUY S PaTICe:

A section where difficult words A list of the book’s chapters
in the book are explained. and the page they start on.

The title of a A list of important words in the book
section of the book. that tells you what page to find them on.

RS

OWhlch page would you turn to to find the chapter about:
~ When the game of conkers was invented? 7

a is the second largest country in the world.

p The person who is best at playing conkers?
ed until the moon rose and began to sing.

How to play conkers without having any accidents? 16
@ What would you find on these pages?
Page 9 The history of conkers
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For more practice, ask your child to look
things up in reference books. Make sure
that they use the contents and index to
help them.

8-9 Years Maths (Year 4)
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9-10 Years English (Year 5)

@ How did each pot feel? Why did they feel ike this?
The perfect pot flt proud because it brought back a full
The cracked pot felt ashamed because it only brought b

@ What did the old lady do when she rea

9-10 Years Maths (Year 5)
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10-11 Years English. (Year 6)

Children should ofl be given free unicycling lessons. They are spending
100 much time watching television, surfing the Internet, or ploging on
qames consoles. This disastrous trend cannot be allowed to continie.
Children need regular exercise. They enjog sports that are challengng
and fun. No sport is mare challenging or more fun than unicycling!

_Sm used to her tongue "
s e 8 B N9 . What type of writing is this? Persuasive.
GRS - T e y——"— st

> You can tell that the text is persuasive because {t s trying 1o,

. Mﬂnmummu(omovopwm?
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Many people think that unicycles came from the
bla;dn Soma riders removed the small back wheel end rode
= MMNWMM Moan-\lqdngthv-hl.
.MWWM‘meWM LY o bigh speeds, and unicycle hockes s just like roller hockey,
Jon's lfe changed forever when the councll fined him for bttering But each plager rides a unicycle. Some people even ride thetr unicycles 1o work!

.mmummmmwmmm-{mvwl .Whotlypeolwﬂxhgum? Information

@ How can you tell?
You an tell that the text is informative because it gives the reader

@ 1s it mainly made up of facts or opinions? Facts.
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Sita eats 2 cherries for every S that Harry eats
How many cherries dosmg each eat?

7 pencils cost 63p. What is the cost of 11 pencils?
charries

When Sia eats 2 cherries, Harry eats 5 cherries, 30 2 + 5 =

pencil costs 63p + 7 = p o ;
it Y ’ are eaten. They can do this 21 + = ¥ times
< So Sita eots 2 x 3 = & cherries, and Horry eats 5 x 3 « 15 cherries.

"Q Teshins cost £72. 12 ping pong bolls welgh 36
How much do 5 T-shirts cost? How much do 7 balls weigh? m
1 T-shirt costs £72 + 9 = £8 . 1 ball weighs 36 g+ 12 =3
[—2—1,:]5 2 goals for Team A and 1 goal for

5 Toshirts cost £8x S = E@ 7 balls weigh 3 g x 7 = Team 8 mokes 2 + 1 = 3 goals.
274329, 30 Team A scored 2 9 = [ 18 | goals

You multiply 3 carrots by 4 to get 12 carrots
So number of leeks = 2 lecks x 4 = 8 leeks

You multiply 100 g by 5 to get 500 g of flour . -
So amount of water = 50 mi x 5 = 250 m| Jeremy picks 3 blackberries for every 2 that Kall picks,
30 3 + 2 = 5 blackberries are picked each time.
mem$¢5-7&uqnhmpm3x7.@w

Another method i ite the
osia Fakin :n d?fﬂi:;::;:;::j: f’"’t Ratio and proportion questions can be quite
g ERSLOES: wordy — if your child’s struggling, get them

a3 carrots to 2 leeks
4(12 et v teehs) 3 to underline the key facts.




10-11 Years Reading (Year 6)




